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54| 55 | 56 | 57 | 58 | 50 | 60 | 61 [ 62 [ 63 [ 2 2 3 4 5 6 7 8 9 20 [ 211 L a2 [ 23 [ 24 | 25 | 46 | 17 | 18 | 19 20 [ 2
@) | (@6%) | @8w) | ow) | (39%) | (56%) | (66%) | (66%) | (71%) | (75%) | (77%) | 83%) | (90%) | (94%) | (94%) | (94%) | (95%) | (95%) | (100%)
am | awyl @) | @) | @ | @) | @n | G| G| 6w | e | @) | @5%) | 9w | 66%) | 675 | 67%) | ©7%) | 67%) | (72%) | (100%)
@) | @ | @0 | aaw | @aw | @aaw | @an) | @ew) | asw) | 6w | @ew) | @ow | @1m)| 7w | G8%) | Go%) | ©1%) | 61%) | (64%) | (72%) (H(zﬁ";“)) (77%)
@ | @ | @ | aow | @aom | aow | aow) | @ow | ow | (23%)
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